ASTM A-325 H.S. BOLTS (GALV) EQUALLY SPACED
TORQUE-TG TENSION OF 8,750 Kg FGR M16 BOLTS
13,000 kg FGR M20 BOLTS
17,800 Kg FOR M22 BOLTS
20,600 Kg FOR M24 BOLTS

NOTES:
1. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS GTHERWISE
STATED.

2. ALL MATERIALS AND WORKMANSHIP SHALL BE IN ACCORDANCE
WITH THE CURRENT Q.C.S. UNLESS OTHERWISE AGREED WITH

THE ENGINEER.
3. PLACE SINGLE THIN BEAD GF SILICONE CAULKING CGMPOUND
ARGUND HOLE PRIOR TQ BOLTING. CAULKING NOT TO INTERFERE
WITH FRICTION BETWEEN PLATES IN BOLTED AREA

SEE " WELD DETAIL "

C/L MOUNTING BRACKET
G

C/L MAST ARM

BAR 20

8 COVER PLATE
BIA = PIPE 0.B. + 12Zmm

13 GALVANIZED BRAIN HOLE

(2 PERMITTED IF REQUIRED )
[

HAND HOLE SEE COVER
PLATE HAND HOLE
DETAIL " A"

MAST ARM END DETAIL

( FOR “SINGLE POST TYPE" ONLY )

o L<\;
CONDUIT HUB

38 x 6 BACKING RING

SHOP SPLICE

(FOR TYPE G ONLY)

PLATE THICKNESS

(/L MAST ARM

VARIES

HAND HOLE (FOR GANTRY TYPE G ONLY)
SEE HAND HGLE DETAIL "B"

| ——

CONBUIT HUB

FIELD SPLICE

LOCATE HAND HOLE AT NEAREST
HANGER ON MAST ARM

8mm COVER PLATE

M10 BOLT (TYP) WELD
NUT TG BACK SIBE GF

8mm (GVER PLATE

125 SQUARE OPENING IN

PIPE D- 50mm
SEE NGTE 3,5

30 x 7 BACKING RING FOR WELDING
DETAILS NOT SHOWN SEE “ POST
BASE ELEVATION"

BOLT PATTERN TQ BE‘J

SYMMETRICAL ABGUT
THIS AXIS

SECTIONH - H

4. PRIME AND PAINT PGST INTERIOR FROM BASE PLATE T0O 200mm
ABGVE LOWER HAND HOLE - UNLESS PGST IS GALVANIZED

"B" 1S INSIBE BIAMETER OF "EXTRA STRONG PIPE"

BESIGN BASED ON CAPACITY OF STANBARD PIPE

PLACE HAND HOLE AND CONDUIT HUB PERPENDBICULAR TQ AXIS
OF SIGN AND AWAY FROM APPRGACHING TRAFFIC. DRILL AND
TAP FGR 25mm. BIA. CONDUIT HUB ABJACENT TO MAST ARM

HANB HOLES ONLY

5

- o

STRUCTURAL TUBE
160 x 100 x 10 x 50
T
! 8mm COVER PLATE
=
%_/7‘ w\?i%ﬁé:&{?&mﬁm DRILL TG RECEIVE M10 BOLTS
\ POST OR MAST ARM TG BACKSIDE. BRILL TG RECEIVE ° °
~ M10 BOLTS
7V 3mm NEGPRENE GASKET FIELD SPLICE
CEMENTED TO COVER PLATE
I *
0 HEX HEAD ChP SCEW s coveR pLATe i s | Hs.BoTs | 8C e pLaTEOD.
DIAMETER THICKNESS DIAMETER
nopou
COVER PLATE HAND HOLE BETAIL " A 30m 2 0115 - omm
3239 mm 32mm 17-M20 388 mm 452 mm
‘ 406.4 mm 32mm 22-M20 470 mm 534 mm
TACK WELD HEX NUT 508.0 mm 38mm 18- M24 584 mm 660 mm
HAND HOLE (FACE AWAY 558.8 mm 38 mm 20 -M24 635 mm 712 mm
FROM TRAVEL WAY)
SEE HAND HOLE DETAIL 609.6 mm 38mm 2% - M24 686 mm 762 mm
660.4 mm 38 mm 26 -M24 736 mm 812 mm
{ § ] | [ j i 762.0 mm 40 mm 26-M24 838 mm 914 mm
‘ § 812.8 mm 40 mm 28-M24 890 mm 968 mm
o I
y} COVER PLATE NGT SHOWN 1 ! / 863.6 mm 40mm 30-M24 940 mm 1016 mm 2 | 17MAR19 [ISSUED FOR USE
| !
// / 1| 20MAR16 |ISSUED FOR USE
| | /
— — / EARTH CONNECTION / 0 | 15SEP13 [ISSUED FOR USE
/' 10mm DIA STUB x / Rev. Date Revision Details Appd.
] 160 LONG WELD / — — <
I / INSIDE TUBE 300 ! e “EI
‘ STRUCTURAL TUBE /,’ FROM BASE PLATE / Public Works Authority
160 x 100 x 10 x 50 / / P.0.Box 22188
1 § ! /,’ I Tel.: (0974) 44950000 HE“E““II
/ / Fax. : (0974) 44950999 )
2, / / www.ashghal.gov.ga Jasll
s ) / / 30x7 e POST WALL OR MAST ARM Qatar Deserves The Best
U
// R BACKING RING PA
25BIA CONDUIT HUB / ™ BASE PLATE OR PROJECTS AFFAIRS
i TOP OF BASE PLATE SPLICE PLATE
(MAST ARM ONLY) \ TACK WELD /| QCS Section:
i % /§< Section 6 - Road Works
i ] \ ] Part 13 - Traffic Signs, Markings and Studs
\
J ——
F— C/L HANB HOLE = C/L PIPE AN Drawing Title: SIGN GANTRY
N
HAND HOLE DETAIL B POST BASE ELEVATION SEE WELD DETAL WELD DETAIL STRUCTURAL FRAMING
(MAST ARM AND POST ) DETA”_S
Approved: SheetNor |~
P2 MARCH 2019 Seale N TS,
Drawing Number: Revision:
SD 6-13-205 2



AutoCAD SHX Text
C/L HAND HOLE = C/L PIPE

AutoCAD SHX Text
COVER PLATE NOT SHOWN

AutoCAD SHX Text
TACK WELD HEX NUT

AutoCAD SHX Text
 SEE WELD DETAIL 

AutoCAD SHX Text
POST WALL OR MAST ARM

AutoCAD SHX Text
M10 HEX HEAD CAP SCREW

AutoCAD SHX Text
CONDUIT HUB

AutoCAD SHX Text
C/L MAST ARM

AutoCAD SHX Text
C/L MOUNTING BRACKET

AutoCAD SHX Text
G

AutoCAD SHX Text
C/L MAST ARM

AutoCAD SHX Text
SEE " WELD DETAIL "

AutoCAD SHX Text
%%UMAST ARM END DETAIL

AutoCAD SHX Text
%%USHOP SPLICE

AutoCAD SHX Text
L

AutoCAD SHX Text
BASE PLATE OR 

AutoCAD SHX Text
SPLICE PLATE

AutoCAD SHX Text
8mm COVER PLATE

AutoCAD SHX Text
TOP OF BASE PLATE

AutoCAD SHX Text
POST OR MAST ARM

AutoCAD SHX Text
5 COVER PLATE

AutoCAD SHX Text
( MAST ARM AND POST )

AutoCAD SHX Text
( FOR "SINGLE POST TYPE" ONLY )

AutoCAD SHX Text
BAR 20

AutoCAD SHX Text
7

AutoCAD SHX Text
13 GALVANIZED DRAIN HOLE ( 2 PERMITTED IF REQUIRED )

AutoCAD SHX Text
HAND HOLE SEE COVER PLATE HAND HOLE DETAIL " A "

AutoCAD SHX Text
38 x 6 BACKING RING

AutoCAD SHX Text
CONDUIT HUB  ( FOR TYPE G ONLY)

AutoCAD SHX Text
HAND HOLE (FOR GANTRY TYPE G ONLY)  SEE HAND HOLE DETAIL "B"

AutoCAD SHX Text
ASTM A-325 H.S. BOLTS (GALV) EQUALLY SPACED TORQUE-TO TENSION OF 8,750 Kg FOR M16 BOLTS

AutoCAD SHX Text
13,000 kg FOR M20 BOLTS 17,800 Kg FOR M22 BOLTS 20,600 Kg FOR M24 BOLTS

AutoCAD SHX Text
PIPE D- 50mm SEE NOTE 3, 5 

AutoCAD SHX Text
30 x 7 BACKING RING  FOR WELDING DETAILS NOT SHOWN SEE " POST BASE ELEVATION"

AutoCAD SHX Text
BOLT PATTERN TO BE SYMMETRICAL ABOUT THIS AXIS

AutoCAD SHX Text
M10 BOLT (TYP) WELD NUT TO  BACK SIDE OF 8mm COVER PLATE

AutoCAD SHX Text
175 SQUARE COVER PLATE WITH 3mm GASKET CEMENTED TO BACKSIDE. DRILL TO RECEIVE M10 BOLTS

AutoCAD SHX Text
125  SQUARE OPENING IN 8mm COVER PLATE DRILL TO RECEIVE M10 BOLTS

AutoCAD SHX Text
FIELD SPLICE

AutoCAD SHX Text
SECTION H - H

AutoCAD SHX Text
3mm NEOPRENE GASKET CEMENTED TO COVER PLATE

AutoCAD SHX Text
STRUCTURAL TUBE  160 x 100 x 10 x 50

AutoCAD SHX Text
25 DIA  CONDUIT HUB  (MAST ARM ONLY)

AutoCAD SHX Text
HAND HOLE DETAIL  B 

AutoCAD SHX Text
STRUCTURAL TUBE  160 x 100 x 10 x 50

AutoCAD SHX Text
EARTH CONNECTION  10mm DIA  STUD x 160 LONG WELD INSIDE TUBE 300 FROM BASE PLATE

AutoCAD SHX Text
HAND HOLE (FACE AWAY FROM TRAVEL WAY)  SEE HAND HOLE DETAIL

AutoCAD SHX Text
POST BASE ELEVATION

AutoCAD SHX Text
WELD DETAIL

AutoCAD SHX Text
COVER PLATE HAND HOLE DETAIL " A "

AutoCAD SHX Text
LOCATE HAND HOLE AT NEAREST HANGER ON MAST ARM

AutoCAD SHX Text
30 x 7

AutoCAD SHX Text
BACKING RING

AutoCAD SHX Text
TACK WELD

AutoCAD SHX Text
8 COVER PLATE DIA = PIPE O.D. + 12mm 12mm

AutoCAD SHX Text
1. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE STATED.  2. ALL MATERIALS AND WORKMANSHIP SHALL BE IN ACCORDANCE ALL MATERIALS AND WORKMANSHIP SHALL BE IN ACCORDANCE WITH THE CURRENT Q.C.S. UNLESS OTHERWISE AGREED WITH THE ENGINEER. 3. PLACE SINGLE THIN BEAD OF SILICONE CAULKING COMPOUND PLACE SINGLE THIN BEAD OF SILICONE CAULKING COMPOUND AROUND HOLE PRIOR TO BOLTING. CAULKING NOT TO INTERFERE WITH FRICTION BETWEEN PLATES IN BOLTED AREA.  4. PRIME AND PAINT POST INTERIOR FROM BASE PLATE TO 200mm    PRIME AND PAINT POST INTERIOR FROM BASE PLATE TO 200mm    ABOVE LOWER HAND HOLE - UNLESS POST IS GALVANIZED  5. "D" IS INSIDE DIAMETER OF "EXTRA STRONG PIPE" . "D" IS INSIDE DIAMETER OF "EXTRA STRONG PIPE" . 6. DESIGN BASED ON CAPACITY OF STANDARD PIPE.  DESIGN BASED ON CAPACITY OF STANDARD PIPE.  7. PLACE HAND HOLE AND CONDUIT HUB PERPENDICULAR TO AXIS PLACE HAND HOLE AND CONDUIT HUB PERPENDICULAR TO AXIS OF SIGN AND AWAY FROM APPROACHING TRAFFIC. DRILL AND TAP FOR 25mm. DIA. CONDUIT HUB ADJACENT TO MAST ARM HAND HOLES ONLY.

AutoCAD SHX Text
H

AutoCAD SHX Text
H


	Sheets and Views
	SD 6-13-205


